Malh 2270-3 LW
'{"B\i F}\abia 3 2
E\Avo’ha{a A—wal%* {;n( = f A"‘?z
!7;13"7’

Lo ¢ LC@ 9 i1 % @@ 0 24
‘ 27, @D Y &P ©
e 1, (®

Weliome bade 't

Read ‘ktams’ szxamp(a i, paos 1, of lext !.

" Tl )n‘eld of ora bundle fj\: EMC“WU*’ e, hen Dundles &‘E g it @W&L
riw Gnd Hhree bundles Jb s peror @ 16 39 dow of avadn,

The 7(@‘,& oL e bundle inf via, 3 bund, d-grade W, 2 bund
‘5l~?~ 5mal.:z riw 1§ 2 4 dow of Arod -
Thae yield ok 3 burd. inforiw, 2 bumd . wed- e, | bund . sup. v S

mt? 26 Aew. ”

Quash o & What s -Hu.)n’é,idi o;F e bund 9.; each 6"‘33& G'E "‘*'L"?
Frne:

X = yiel&/bmdh_ frn ing e
A 7"'3\0‘&/bukd{3_ %n, e d . N
7 = }i{el&/buha& —{:v\, Sv\.?'n’w

2

box 42y P32 =39 i
X ¥ By + 2% T3 t
%X 4—27»&— 2226 1‘
H

1

\

wa  eMmaentar eqina Ko
opencbiong do “solve Hhig:
md“t . vl h by hone 2VD
Mmd-:j& 7

ops dhonal | o tnleachan ul%»s '

¢ add wel ‘v\.!- ﬂo &HM" “
za‘h._ to givem fqb\, |

el. rnar ops

o e o e e

[




§
§
3
1

Solukon <ot

Lad u{wdcm o~

Pag At Vg & ?loudf
i R5,

s:.e'un:\«.g al\ (Xﬂjﬁ)
whith $ats s
$‘3Sl¢4- 4 s.a,/}hs 15

et kang tha tnlage hon
point GS) 7, s 2
?LM b

> plot] == plot.?d[{

(39 — x — 2-y} 2 (34m};w3'y} (26—3x—23)h

3
x=0.10,y=0.10, axe.s'ﬁboxed) :

plot2 = pointplot3d ({[2.75. 4.25, 9.251}, symbol = solidcircle, symbolsize =20, color
= hlack} :
display3d{{ plot], plot2}),
Huas plot madst
wrtin CVAPLE,

- 0.0




What ot ay&om%)‘w‘a— mg‘:‘smva%{ms are. ?ossa’%{& fa 3 21'%'5-\.5 o 3 uh&:b«%ms?

(y;;-w m‘sk{f stavdt wath 2 esﬁw; S B unknaaes. )
Skabdn ?s‘a%‘wu«;, see of O Can fnd e %«{gsiewws “ ﬂiwia'wss )/%'eicijmﬁ
2echn ?Pc,‘}w\sa 03,4—0“44"’3 i-



